Efficiency vs Dxy(PV)

1.2

0.8]

efficiency vs dxy(PV)

0.6]

Ratio

10

15 20

TP dxy(PV) (cm)

oty TED ]
pixelCPETemplate s

T

Tooar

TaseIT
tep? tibar- hasel-newgeo

m
New_step2_ttbar-phasel-newgeom
New?_step?_ttbar-phasel-newgeom
New3~step2_ttbar-phasel-newgeom
lewd_step2_ttbar-phasel-newgeom

[y

TTT T T[T T T[T T[T T[T

0.8]

efficiency vs dxy(PV)

0.6}

0.4]

0.2]

Ratio
=

0.9

0.

Efficiency vs Dz(PV)

<005
%.045
kel
20.04
>
3,035
8
Q
So03
()
0.025
0.02
0.015
0.01
0.005

0|

Ratio
.

10 20 30

TP dz(PV) (cm)

Ratio
L

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


